# Some identities for the generalized Laguerre polynomials 

Wen-Kai Shao ${ }^{\text {a }}$, Yuan $\mathrm{He}^{\mathrm{b}, *}$, Jing Pan ${ }^{\mathrm{b}}$<br>${ }^{a}$ Department of Mathematical Teaching and Research, Yibin Vocational \& Technical College, 644003 Yibin, Sichuan, P. R. China.<br>${ }^{b}$ Faculty of Science, Kunming University of Science and Technology, 650500 Kunming, Yunnan, P. R. China.

Communicated by R. Saadati


#### Abstract

In this paper, we perform a further investigation for the generalized Laguerre polynomials. By applying the generating function methods and Padé approximation techniques, we establish some new identities for the generalized Laguerre polynomials, and give some illustrative special cases as well as immediate consequences of the main results. ©2016 All rights reserved.


Keywords: Generalized Laguerre polynomials, Padé approximation, combinatorial identities. 2010 MSC: 11B83, 42C05, 41A21, 05A19.

## 1. Introduction

The generalized Laguerre polynomials $L_{n}^{(\alpha)}(x)$ associated with non-negative integer $n$ and real number $\alpha>-1$ are widely used in many problems of mathematical physics and quantum mechanics, for example, in the integration of Helmholtz's equation in paraboloidal coordinates, in the theory of the propagation of electromagnetic oscillations along long lines, etc., as well as in physics in connection with the solution of the second-order linear differential equation:

$$
\begin{equation*}
x y^{\prime \prime}+(\alpha+1-x) y^{\prime}+n y=0 . \tag{1.1}
\end{equation*}
$$

These polynomials satisfy some recurrence relations. One very useful, when extracting properties of the wave functions of the hydrogen atom, is the following three-term recurrence relation (see, e.g., [10, 19]):

$$
\begin{equation*}
L_{n+1}^{(\alpha)}(x)=\frac{2 n+1+\alpha-x}{n+1} L_{n}^{(\alpha)}(x)-\frac{n+\alpha}{n+1} L_{n-1}^{(\alpha)}(x) \quad(n \geq 1), \tag{1.2}
\end{equation*}
$$

[^0]with the initial conditions $L_{0}^{(\alpha)}(x)=1$ and $L_{1}^{(\alpha)}(x)=1+\alpha-x$. In particular, the case $\alpha=1$ in (1.2) gives the classical Laguerre polynomials $L_{n}(x)$ satisfying
\[

$$
\begin{equation*}
L_{n+1}(x)=\frac{2 n+2-x}{n+1} L_{n}(x)-L_{n-1}(x) \quad(n \geq 1) \tag{1.3}
\end{equation*}
$$

\]

with the initial conditions $L_{0}(x)=1$ and $L_{1}(x)=2-x$.
This family of generalized Laguerre polynomials form a complete orthogonal system in the weighted Sobolev space $L_{\Omega_{\alpha}}^{2}\left(\mathbb{R}^{+}\right)$with the weighted function $\Omega_{\alpha}(x)=x^{\alpha} e^{-x}$, as follows (see, e.g., [6, 10]),

$$
\begin{equation*}
\int_{0}^{\infty} L_{m}^{(\alpha)}(x) L_{n}^{(\alpha)}(x) x^{\alpha} e^{-x} \mathrm{~d} x=\frac{\Gamma(n+\alpha+1)}{n!} \delta_{m n} \quad(m, n \geq 0) \tag{1.4}
\end{equation*}
$$

where $\Gamma(\cdot)$ is the Gamma function and $\delta_{i j}$ is the Kronecker delta symbol given by $\delta_{i j}=1$ or 0 according to $i=j$ or $i \neq j$. In fact, the generalized Laguerre polynomials are eigenfunctions of the Sturm-Liouville problem (see, e.g., [1, 13, 25]):

$$
\begin{equation*}
x^{-\alpha} e^{x}\left(x^{\alpha+1} e^{-x}\left(L_{n}^{(\alpha)}(x)\right)^{\prime}\right)^{\prime}+\mu_{n} L_{n}^{(\alpha)}(x)=0 \quad(n \geq 0) \tag{1.5}
\end{equation*}
$$

with the eigenvalues $\mu_{n}=n$. Moreover, we actually have the following closed formula for the generalized Laguerre polynomials (see, e.g., [8, 9, 20]):

$$
\begin{equation*}
L_{n}^{(\alpha)}(x)=\sum_{k=0}^{n}(-1)^{k}\binom{n+\alpha}{n-k} \frac{x^{k}}{k!} \quad(n \geq 0) \tag{1.6}
\end{equation*}
$$

where $\binom{\gamma}{k}$ is the binomial coefficients given by

$$
\begin{equation*}
\binom{\gamma}{0}=1 \quad \text { and } \quad\binom{\gamma}{k}=\frac{\gamma(\gamma-1)(\gamma-2) \cdots(\gamma-k+1)}{k(k-1)(k-2) \cdots 1} \tag{1.7}
\end{equation*}
$$

for positive integer $k$ and complex number $\gamma$. It is well known that the formula (1.6) stems from Rodrigues' formula for the generalized Laguerre polynomials:

$$
\begin{equation*}
L_{n}^{(\alpha)}(x)=\frac{x^{-\alpha} e^{x}}{n!} \cdot \frac{\mathrm{d}^{n}}{\mathrm{~d} x^{n}}\left(e^{-x} x^{n+\alpha}\right)=x^{-\alpha} \frac{\left(\frac{\mathrm{d}}{\mathrm{~d} x}-1\right)^{n}}{n!} x^{n+\alpha} \quad(n \geq 0) \tag{1.8}
\end{equation*}
$$

But for the closed formula (1.6), it seems that none has studied it yet, at least we have not seen any related results before. The formula 1.6 is very interesting, because it reveals good value distributions of the generalized Laguerre polynomials.

In the present paper, we will be concerned with some generalizations of the above closed formula for the generalized Laguerre polynomials. By making use of the generating function methods and Padé approximation techniques, we establish some new identities for the generalized Laguerre polynomials. As applications, we give some illustrative special cases of the main results and show that the closed formula (1.6) for the generalized Laguerre polynomials can be obtained in different directions.

This paper is organized as follows. In the second section, we recall the Pade approximation to the exponential function. The third section is contributed to the statements of some new identities for the generalized Laguerre polynomials.

## 2. Padé approximants

As is well known, Padé approximants have become more and more widely used in various fields of mathematics, physics and engineering (see, e.g., [4, 17]). They provide rational approximations to functions formally defined by a power series expansion. Padé approximants are also closely related to some methods
which are used in numerical analysis to accelerate the convergence of sequences and iterative processes. We now recall the definition of Padé approximation to general series and their expression in the case of the exponential function. Let $m, n$ be non-negative integers and let $\mathcal{P}_{k}$ be the set of all polynomials of degree $\leq k$. Considering a function $f$ with a Taylor expansion

$$
\begin{equation*}
f(t)=\sum_{k=0}^{\infty} c_{k} t^{k} \tag{2.1}
\end{equation*}
$$

in a neighborhood of the origin, a Padé form of type $(m, n)$ is a pair $(P, Q)$ such that

$$
\begin{equation*}
P=\sum_{k=0}^{m} p_{k} t^{k} \in \mathcal{P}_{m}, \quad Q=\sum_{k=0}^{n} q_{k} t^{k} \in \mathcal{P}_{n} \quad(Q \not \equiv 0) \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
Q f-P=\mathcal{O}\left(t^{m+n+1}\right) \quad \text { as } t \rightarrow 0 \tag{2.3}
\end{equation*}
$$

Clearly, every Padé form of type $(m, n)$ for $f(t)$ always exists and satisfies the same rational function. The uniquely determined rational function $P / Q$ is called the Padé approximant of type $(m, n)$ for $f(t)$, and is denoted by $[m / n]_{f}(T)$ or $r_{m, n}[f ; t]$; see for example, [2, 5].

The study of Padé approximants to the exponential function was initiated by Hermite [11] and continued by Padé [21]. Given a pair $(m, n)$ of nonnegative integers, the Padé approximant of type $(m, n)$ for $e^{t}$ is the unique rational function

$$
\begin{equation*}
R_{m, n}(t)=\frac{P_{m}(t)}{Q_{n}(t)} \quad\left(P_{m} \in \mathcal{P}_{m}, Q_{n} \in \mathcal{P}_{n}, Q_{n}(0)=1\right) \tag{2.4}
\end{equation*}
$$

with the property that

$$
\begin{equation*}
e^{t}-R_{m, n}(t)=\mathcal{O}\left(t^{m+n+1}\right) \quad \text { as } t \rightarrow 0 \tag{2.5}
\end{equation*}
$$

Unlike Padé approximants to most other functions, it is possible to give explicit formulas for $P_{m}$ and $Q_{n}$ in the following ways (see, e.g., [3] or [22, p. 245]):

$$
\begin{gather*}
P_{m}(t)=\sum_{k=0}^{m} \frac{(m+n-k)!\cdot m!}{(m+n)!\cdot(m-k)!} \cdot \frac{t^{k}}{k!}  \tag{2.6}\\
Q_{n}(t)=\sum_{k=0}^{n} \frac{(m+n-k)!\cdot n!}{(m+n)!\cdot(n-k)!} \cdot \frac{(-t)^{k}}{k!} \tag{2.7}
\end{gather*}
$$

and

$$
\begin{equation*}
Q_{n}(t) e^{t}-P_{m}(t)=(-1)^{n} \frac{t^{m+n+1}}{(m+n)!} \int_{0}^{1} x^{n}(1-x)^{m} e^{x t} \mathrm{~d} x \tag{2.8}
\end{equation*}
$$

The polynomials $P_{m}(t)$ and $Q_{n}(t)$ is referred to as the Padé numerator and denominator of type $(m, n)$ for $e^{t}$, respectively.

The above properties of these approximants have played important roles in Hermite's proof of the transcendency of $e$, Lindemann's proof of the transcendency of $\pi$, continued fractions, and Orthogonal polynomials; see [12, 23, 24] for details.

## 3. The restatements of results

It is clear that the generalized Laguerre polynomials can be defined by the following generating function (see, e.g., [1, 7, 18]):

$$
\begin{equation*}
\sum_{n=0}^{\infty} L_{n}^{(\alpha)}(x) t^{n}=\frac{1}{(1-t)^{\alpha+1}} e^{-\frac{t x}{1-t}} \quad(|t|<1) \tag{3.1}
\end{equation*}
$$

In what follows, we shall make use of (3.1) and Padé approximation to the exponential function to establish some new identities for the generalized Laguerre polynomials, and show that the closed formula (1.6) for the generalized Laguerre polynomials is derived as special cases. We now denote the right hand side of 2.8 by $S_{m, n}(t)$ to obtain

$$
\begin{equation*}
e^{t}=\frac{P_{m}(t)+S_{m, n}(t)}{Q_{n}(t)} . \tag{3.2}
\end{equation*}
$$

By multiplying both sides of (3.1) by $e^{\frac{t x}{1-t}}$ and then substituting $t x /(1-t)$ for $t$ in (3.2), we discover

$$
\begin{equation*}
\left(P_{m}\left(\frac{t x}{1-t}\right)+S_{m, n}\left(\frac{t x}{1-t}\right)\right) \sum_{n=0}^{\infty} L_{n}^{(\alpha)}(x) t^{n}=\frac{1}{(1-t)^{\alpha+1}} Q_{n}\left(\frac{t x}{1-t}\right) \tag{3.3}
\end{equation*}
$$

If we apply the exponential series $e^{x t}=\sum_{k=0}^{\infty} x^{k} t^{k} / k!$ in the right hand side of (2.8), in view of the beta function, we get

$$
\begin{equation*}
S_{m, n}(t)=(-1)^{n} \frac{t^{m+n+1}}{(m+n)!} \sum_{k=0}^{\infty} \frac{t^{k}}{k!} \int_{0}^{1} x^{n+k}(1-x)^{m} d x=\sum_{k=0}^{\infty} \frac{(-1)^{n} m!\cdot(n+k)!}{(m+n)!\cdot(m+n+k+1)!} \cdot \frac{t^{m+n+k+1}}{k!} \tag{3.4}
\end{equation*}
$$

Let $p_{m, n ; k}, q_{m, n ; k}$ and $s_{m, n ; k}$ be the coefficients of the polynomials

$$
\begin{equation*}
P_{m}(t)=\sum_{k=0}^{m} p_{m, n ; k} t^{k}, \quad Q_{n}(t)=\sum_{k=0}^{n} q_{m, n ; k} t^{k} \quad \text { and } \quad S_{m, n}(t)=\sum_{k=0}^{\infty} s_{m, n ; k} t^{m+n+k+1} \tag{3.5}
\end{equation*}
$$

Obviously, from (2.6), 2.7) and (3.4), $p_{m, n ; k}, q_{m, n ; k}$ and $s_{m, n ; k}$ obey

$$
\begin{equation*}
p_{m, n ; k}=\frac{m!\cdot(m+n-k)!}{k!\cdot(m+n)!\cdot(m-k)!}, \quad q_{m, n ; k}=\frac{(-1)^{k} n!\cdot(m+n-k)!}{k!\cdot(m+n)!\cdot(n-k)!} \tag{3.6}
\end{equation*}
$$

and

$$
\begin{equation*}
s_{m, n ; k}=\frac{(-1)^{n} m!\cdot(n+k)!}{k!\cdot(m+n)!\cdot(m+n+k+1)!}, \tag{3.7}
\end{equation*}
$$

respectively. We next apply (3.5) to (3.3) to get

$$
\begin{align*}
& \left(\sum_{k=0}^{m} p_{m, n ; k} x^{k}\left(\frac{t}{1-t}\right)^{k}\right) \sum_{j=0}^{\infty} L_{j}^{(\alpha)}(x) t^{j} \\
& \quad+\left(\sum_{k=0}^{\infty} s_{m, n ; k} x^{m+n+k+1}\left(\frac{t}{1-t}\right)^{m+n+k+1}\right) \sum_{j=0}^{\infty} L_{j}^{(\alpha)}(x) t^{j}  \tag{3.8}\\
& \quad=\frac{1}{(1-t)^{\alpha+1}} \sum_{k=0}^{n} q_{m, n ; k} x^{k}\left(\frac{t}{1-t}\right)^{k}
\end{align*}
$$

Notice that for any complex number $\gamma$,

$$
\begin{equation*}
(1+t)^{\gamma}=\sum_{n=0}^{\infty}\binom{\gamma}{n} t^{n} \tag{3.9}
\end{equation*}
$$

It follows from $(3.8)$ and $(3.9)$ that

$$
\begin{align*}
& \sum_{k=0}^{m} p_{m, n ; k} x^{k}\left(\sum_{j=0}^{\infty}(-1)^{j}\binom{-k}{j} t^{k+j}\right)\left(\sum_{j=0}^{\infty} L_{j}^{(\alpha)}(x) t^{j}\right) \\
& \quad+\sum_{k=0}^{\infty} s_{m, n ; k} x^{m+n+k+1}\left(\sum_{j=0}^{\infty}(-1)^{j}\binom{-k}{j} t^{m+n+k+j+1}\right) \sum_{j=0}^{\infty} L_{j}^{(\alpha)}(x) t^{j}  \tag{3.10}\\
& \quad=\sum_{k=0}^{n} q_{m, n ; k} x^{k}\left(\sum_{j=0}^{\infty}(-1)^{j}\binom{-\alpha-k-1}{j} t^{k+j}\right)
\end{align*}
$$

which together with the familiar Cauchy product yields

$$
\begin{align*}
& \sum_{l=0}^{\infty} \sum_{\substack{k+j=l \\
k, j \geq 0}} p_{m, n ; k} x^{k} \sum_{i=0}^{j}(-1)^{j-i}\binom{-k}{j-i} L_{i}^{(\alpha)}(x) t^{l} \\
& \quad+\sum_{l=0}^{\infty} \sum_{\substack{k+j=l-m-n-1 \\
k, j \geq 0}} s_{m, n ; k} x^{m+n+k+1} \sum_{i=0}^{j}(-1)^{j-i}\binom{-k}{j-i} L_{i}^{(\alpha)}(x) t^{l}  \tag{3.11}\\
& \quad=\sum_{l=0}^{\infty} \sum_{\substack{k+j=l \\
k, j \geq 0}} q_{m, n ; k} x^{k}(-1)^{j}\binom{-\alpha-k-1}{j} t^{l} .
\end{align*}
$$

Comparing the coefficients of $t^{l}$ in (3.11) gives that for $0 \leq l \leq m+n$,

$$
\begin{equation*}
\sum_{\substack{k+j=l \\ k, j \geq 0}} p_{m, n ; k} x^{k} \sum_{i=0}^{j}(-1)^{j-i}\binom{-k}{j-i} L_{i}^{(\alpha)}(x)=\sum_{\substack{k+j=l \\ k, j \geq 0}} q_{m, n ; k} x^{k}(-1)^{j}\binom{-\alpha-k-1}{j} . \tag{3.12}
\end{equation*}
$$

Hence, by applying (3.6) and (3.7) to (3.12), we obtain

$$
\begin{align*}
\sum_{k=0}^{l}\binom{m}{k}(m+n-k)!x^{k} \sum_{i=0}^{l-k}(-1)^{l-k-i}\binom{-k}{l-k-i} L_{i}^{(\alpha)}(x) \\
\quad=\sum_{k=0}^{l}\binom{n}{k}(m+n-k)!(-x)^{k}(-1)^{l-k}\binom{-\alpha-k-1}{l-k} . \tag{3.13}
\end{align*}
$$

Observe that for complex number $\gamma$ and non-negative integer $k$,

$$
\begin{equation*}
(-1)^{k}\binom{-\gamma+k-1}{k}=\binom{\gamma}{k} . \tag{3.14}
\end{equation*}
$$

It follows from (3.14) that (3.13) can be rewritten as

$$
\begin{equation*}
\sum_{k=0}^{l}\binom{m}{k}(m+n-k)!x^{k} \sum_{i=0}^{l-k}\binom{l-i-1}{l-k-i} L_{i}^{(\alpha)}(x)=\sum_{k=0}^{l}\binom{n}{k}(m+n-k)!(-x)^{k}\binom{l+\alpha}{l-k} . \tag{3.15}
\end{equation*}
$$

If we substitute $\alpha+\beta+1$ for $\alpha$ and $x+y$ for $x$ in (3.1), in light of the Cauchy product, we obtain that for complex numbers $\alpha, \beta$ and non-negative integer $n$,

$$
\begin{equation*}
L_{n}^{(\alpha+\beta+1)}(x+y)=\sum_{k=0}^{n} L_{k}^{(\alpha)}(x) L_{n-k}^{(\beta)}(y) . \tag{3.16}
\end{equation*}
$$

It is easily seen from (3.1), (3.9) and (3.14) that $L_{n}^{(\alpha)}(0)=\binom{n+\alpha}{n}$ for non-negative integer, so by taking $y=0$ and substituting $\beta-\alpha-1$ for $\beta$ in (3.16), we have

$$
\begin{equation*}
L_{n}^{(\beta)}(x)=\sum_{k=0}^{n}\binom{\beta-\alpha+n-k-1}{n-k} L_{k}^{(\alpha)}(x) \quad(n \geq 0) . \tag{3.17}
\end{equation*}
$$

Thus, by applying (3.17) to (3.15, we get the following result.

Theorem 3.1. Let $l, m, n$ be non-negative integers with $0 \leq l \leq m+n$. Then

$$
\begin{equation*}
\sum_{k=0}^{l}\binom{m}{k}(m+n-k)!x^{k} L_{l-k}^{(\alpha+k)}(x)=\sum_{k=0}^{l}\binom{n}{k}(m+n-k)!(-x)^{k}\binom{l+\alpha}{l-k} \tag{3.18}
\end{equation*}
$$

It follows that we show some special cases of Theorem 3.1. It is easily seen from (1.7) that $\binom{n}{k}=0$ for positive integers $n, k$ with $k>n$. Thus, by taking $l=m+n$ in Theorem 3.1, we have

$$
\begin{equation*}
\sum_{k=0}^{m}\binom{m}{k}(m+n-k)!x^{k} L_{m+n-k}^{(\alpha+k)}(x)=\sum_{k=0}^{n}\binom{n}{k}(m+n-k)!(-x)^{k}\binom{m+n+\alpha}{m+n-k} \quad(m, n \geq 0) \tag{3.19}
\end{equation*}
$$

The case $n=0$ in (3.19) gives

$$
\begin{equation*}
\sum_{k=0}^{m}\binom{m}{k}(m-k)!x^{k} L_{m-k}^{(\alpha+k)}(x)=m!\cdot\binom{m+\alpha}{m} \quad(m \geq 0) \tag{3.20}
\end{equation*}
$$

If we take $m=0$ in (3.19), we get

$$
\begin{equation*}
n!\cdot L_{n}^{(\alpha)}(x)=\sum_{k=0}^{n}\binom{n}{k}(n-k)!(-x)^{k}\binom{n+\alpha}{n-k} \quad(n \geq 0) \tag{3.21}
\end{equation*}
$$

which together with $\binom{n}{k}=\frac{n!}{k!\cdot(n-k)!}$ for non-negative integer $n, k$ with $k \leq n$, gives the closed formula 1.6). It is interesting to point out that 3.20 is very analogue to the inverse formula of the generalized Laguerre polynomials, namely (see, e.g., [15])

$$
\begin{equation*}
x^{m}=m!\cdot \sum_{k=0}^{m}\binom{m+\alpha}{m-k}(-1)^{k} L_{k}^{(\alpha)}(x) \quad(m \geq 0) \tag{3.22}
\end{equation*}
$$

For some nice applications of $(3.22)$, one can refer to [14, 16 .
We next present some other identities for the generalized Laguerre polynomials. By comparing the coefficients of $t^{l}$ with $l \geq m+n+1$ in (3.11), we discover

$$
\begin{align*}
& \sum_{\substack{k+j=l \\
k, j \geq 0}} p_{m, n ; k} x^{k} \sum_{i=0}^{j}(-1)^{j-i}\binom{-k}{j-i} L_{i}^{(\alpha)}(x) \\
& \quad+\sum_{\substack{k+j=l-m-n-1 \\
k, j \geq 0}} s_{m, n ; k} x^{m+n+k+1} \sum_{i=0}^{j}(-1)^{j-i}\binom{-k}{j-i} L_{i}^{(\alpha)}(x)  \tag{3.23}\\
& \quad=\sum_{\substack{k+j=l \\
k, j \geq 0}} q_{m, n ; k} x^{k}(-1)^{j}\binom{-\alpha-k-1}{j}
\end{align*}
$$

which implies

$$
\begin{align*}
& \sum_{k=0}^{l} p_{m, n ; k} x^{k} \sum_{i=0}^{l-k}(-1)^{l-k-i}\binom{-k}{l-k-i} L_{i}^{(\alpha)}(x) \\
& \quad+\sum_{k=0}^{l-m-n-1} s_{m, n ; k} x^{m+n+k+1} \sum_{i=0}^{l-m-n-k-1}(-1)^{l-m-n-k-i-1}\binom{-k}{l-m-n-k-i-1} L_{i}^{(\alpha)}(x)  \tag{3.24}\\
& \quad=\sum_{k=0}^{l} q_{m, n ; k} x^{k}(-1)^{l-k}\binom{-\alpha-k-1}{l-k}
\end{align*}
$$

Notice that from (3.14) and (3.17) we have

$$
\begin{equation*}
\sum_{i=0}^{l-k}(-1)^{l-k-i}\binom{-k}{l-k-i} L_{i}^{(\alpha)}(x)=L_{l-k}^{(\alpha+k)}(x) \quad(0 \leq k \leq l) . \tag{3.25}
\end{equation*}
$$

If we apply (3.6) and (3.7) to (3.24), with the help of (3.14) and (3.25), we obtain that for positive integer $l \geq m+n+1$,

$$
\begin{align*}
& \sum_{k=0}^{l}\binom{m}{k}(m+n-k)!x^{k} L_{l-k}^{(\alpha+k)}(x)+(-1)^{n} \\
& \quad \times \sum_{k=0}^{l-m-n-1} \frac{m!\cdot(n+k)!}{k!\cdot(m+n+k+1)!} x^{m+n+k+1} L_{l-m-n-k-1}^{(\alpha+k)}(x)  \tag{3.26}\\
& \quad=\sum_{k=0}^{l}\binom{n}{k}(m+n-k)!(-x)^{k}\binom{l+\alpha}{l-k}
\end{align*}
$$

Thus, by taking $l=m+n+r$ with $r$ being a positive integer in (3.26), in light of $\binom{n}{k}=0$ for positive integers $n, k$ with $k>n$, we get the following result.

Theorem 3.2. Let $m, n$ be non-negative integers. Then, for positive integer $r$,

$$
\begin{align*}
& \sum_{k=0}^{m}\binom{m}{k}(m+n-k)!x^{k} L_{m+n+r-k}^{(\alpha+k)}(x) \\
&+\frac{(-1)^{n}}{(r-1)!} \sum_{k=0}^{r-1} \frac{\binom{r-1}{k}}{\binom{m+n+k}{m}}(r-1-k)!\frac{x^{m+n+k+1}}{m+n+k+1} L_{r-1-k}^{(\alpha+k)}(x)  \tag{3.27}\\
&=\sum_{k=0}^{n}\binom{n}{k}(m+n-k)!(-x)^{k}\binom{m+n+r+\alpha}{m+n+r-k} .
\end{align*}
$$

It becomes obvious that the case $m=0$ in Theorem 3.2 gives that for non-negative integer $n$ and positive integer $r$,

$$
\begin{equation*}
n!\cdot L_{n+r}^{(\alpha)}(x)+(-1)^{n} \sum_{k=0}^{r-1} \frac{1}{(n+k+1) \cdot k!} x^{n+k+1} L_{r-1-k}^{(\alpha+k)}(x)=\sum_{k=0}^{n}\binom{n}{k}(n-k)!(-x)^{k}\binom{n+r+\alpha}{n+r-k} . \tag{3.28}
\end{equation*}
$$

And the case $r=1$ in Theorem 3.2 gives that for non-negative integers $m, n$,

$$
\begin{align*}
\sum_{k=0}^{m}\binom{m}{k}(m+n-k)!x^{k} L_{m+n+1-k}^{(\alpha+k)}(x)= & \sum_{k=0}^{n}\binom{n}{k}(m+n-k)!(-x)^{k}\binom{m+n+1+\alpha}{m+n+1-k} \\
& +(-1)^{n+1} \frac{m!\cdot n!}{(m+n+1)!} x^{m+n+1} \tag{3.29}
\end{align*}
$$

In particular, the case $r=1$ in (3.28) gives

$$
\begin{equation*}
n!\cdot L_{n+1}^{(\alpha)}(x)-\frac{(-x)^{n+1}}{n+1}=\sum_{k=0}^{n}\binom{n}{k}(n-k)!(-x)^{k}\binom{n+1+\alpha}{n+1-k} \quad(n \geq 0) \tag{3.30}
\end{equation*}
$$

and the case $m=0$ in (3.29) gives

$$
\begin{equation*}
n!\cdot L_{n+1}^{(\alpha)}(x)=\sum_{k=0}^{n}\binom{n}{k}(n-k)!(-x)^{k}\binom{n+1+\alpha}{n+1-k}+\frac{(-x)^{n+1}}{n+1} \quad(n \geq 0) \tag{3.3}
\end{equation*}
$$

It is obvious that the formula 3.30 is the same to the formula (3.31). If we divide both sides of (3.31) by $n$ !, in view of $\binom{n}{k}=\frac{n!}{k!\cdot(n-k)!}$ for non-negative integers $n, k$ with $k \leq n$, we get

$$
\begin{equation*}
L_{n+1}^{(\alpha)}(x)=\sum_{k=0}^{n} \frac{(-x)^{k}}{k!}\binom{n+1+\alpha}{n+1-k}+\frac{(-x)^{n+1}}{(n+1)!}=\sum_{k=0}^{n+1} \frac{(-x)^{k}}{k!}\binom{n+1+\alpha}{n+1-k} \quad(n \geq 0) \tag{3.32}
\end{equation*}
$$

which together with $L_{0}^{(\alpha)}(x)=1$ gives the closed formula (1.6).

## Acknowledgements

The authors express their gratitude to the anonymous referee for his/her valuable and detailed comments, which have led to a significant improvement on the presentation of this paper. The first author is supported by the Special Foundation for Applied Mathematics in Yibin Vocational \& Technical College (Grant No. YBZYSC15-19) and the Key Science Foundation of Department of Education of Sichuan Province (Grant No. 15ZA0337); the second author is supported by the Foundation for Fostering Talents in Kunming University of Science and Technology (Grant No. KKSY201307047) and the National Natural Science Foundation of P.R. China (Grant No. 11326050).

## References

[1] G. B. Arfken, H. J. Weber, F. E. Harris, Mathematical Methods for Physicists: A Comprehensive Guide, Academic Press, Oxford, (2011). 1 1 3
[2] G. A. Baker, P. R. Graves-Morris, Padé approximants: 2nd Edition, Cambridge Univ. Press, Cambridge, (1996). 2
[3] L. Baratchart, E. B. Saff, F. Wielonsky, Rational interpolation of the exponential function, Canad, J. Math., 47 (1995), 1121-1147. 2
[4] C. Brezinski, Padé-Type Approximation and General Orthogonal Polynomials, Birkhäuser, Basel, (1980). 2
[5] C. Brezinski, History of Continued Fractions and Padé Approximants, Springer-Verlag Berlin Heidelberg, Berlin, (1991). 2
[6] L. Carlitz, On the product of two Laguerre polynomials, J. London Math. Soc., 36 (1961), 399-402. 1]
[7] L. Carlitz, Some generating functions for Laguerre polynomials, Duke Math. J., 35 (1968), 825-827. 3
[8] G. Dattoli, Laguerre and generalized Hermite polynomials: the point of view of the operational method, Integral Transforms Spec. Funct., 15 (2004), 93-99. 1
[9] G. Dattoli, H. M. Srivastava, C. Cesarano, The Laguerre and Legendre polynomials from an operational point of view, Appl. Math. Comput., 124 (2001), 117-127. 1
[10] C. F. Dunkl, A Laguerre polynomial orthogonality and the hydrogen atom, Anal. Appl., 1 (2003), 177-188. 1 1. 1
[11] C. Hermite, Sur la fonction exponentielle, Gauthier-Villars, Paris, (1874). 2
[12] W. B. Jones, W. J. Thron, Continued Fractions: Analytic Theory and Applications, Addison-Wesley Publishing Co., Reading, (1980). 2
[13] H. Khosravian-Arab, M. Dehghan, M. R. Eslahchi, Fractional Sturm-Liouville boundary value problems in unbounded domains: theory and applications, J. Comput. Phys., 299 (2015), 526-560. 1
[14] T. Kim, Identities involving Laguerre polynomials derived from umbral calculus, Russ. J. Math. Phys., 21 (2014), 36-45. 3
[15] T. Kim, D. S. Kim, Extended Laguerre polynomials associated with Hermite, Bernoulli, and Euler numbers and polynomials, Abstr. Appl. Anal., 2012 (2012), 15 pages. 3
[16] T. Kim, S.-H. Rim, D. V. Dolgy, S.-H. Lee, Some identities on Bernoulli and Euler polynomials arising from the orthogonality of Laguerre polynomials, Adv. Differ. Equ., 2012 (2012), 8 pages. 3
[17] L. Komzsik, Approximation Techniques for Engineers, CRC Press, Boca Raton, (2007). 2
[18] W. Magnus, F. Oberhettinger, R. P. Soni, Formulas and Theorems for the Special Functions of Mathematical Physics, Springer-Verlag, New York, (1966). 3
[19] J. Mawhin, A. Ronveaux, Schrödinger and Dirac equations for the hydrogen atom, and Laguerre polynomials, Arch. Hist. Exact Sci., 64 (2010), 429-460. 1
[20] H. Moya-Cessa, F. Soto-Eguibar, Operator methods applied to special functions, Appl. Math. Inf. Sci., 9 (2015), 1283-1289. 1
[21] H. Padé, C. B. Oeuvres (ed.), Librairie Scientifique et Technique, A. Blanchard, Paris, (1984). 2
[22] O. Perron, Die Lehre von den Kettenbriichen, Vieweg+Teubner Verlag, Stuttgart, (1957). 2
[23] E. B. Saff, Orthogonal Polynomials from a Complex Perspective, NATO Adv. Sci. Inst. Ser. C Math. Phys. Sci., 294 (1990), 363-393. 2
[24] C. L. Siegel, Transcendental Numbers, Princeton Univ. Press, Princeton, (1949). 2
[25] G. Szego, Orthogonal Polynomials, Amer. Math. Soc., RI, (1975). 1


[^0]:    *Corresponding author
    Email addresses: wksh_0@163.com (Wen-Kai Shao), hyyhe@aliyun.com,hyyhe@outlook.com (Yuan He), panjing320@sina.com (Jing Pan)

